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2. Alpha
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4. Beta

5. 249101Md ( 42He + 24599Es

6. 14662Sm ( 42He + 14260Nd

7. 19885At ( electron + 19886Rn

8. 15254Xe ( electron + 15255Cs
	1. The strong nuclear force are the forces that exist between subatomic particles in the nucleus of an atom. These are the forces that are felt between protons and neutrons. It is an attractive force. The electromagnetic force is the force that is felt between charged objects. Like charges repel and opposites attract. Since the nucleus does not spontaneously split apart, this indicates that the strong nuclear force is more powerful then the electromagnetic force due to the fact that the protons do not repel away from one another.

2. Nuclear fission is when one atom splits into two. Nuclear fusion is when two atoms combine into one. Both result in a huge release of energy, but they are opposites of one another (one combines and one splits).

3. E = mc2
E=(10 kg)(3.0 x 108)2
E=(10)(9.0 x 1016)

E = 90 x 1016 J

4. When an atom undergoes nuclear decay the electromagnetic force overcomes the strong nuclear force, which results in nuclear decay. This results in the splitting of our atom due to the fact that the protons now feel the repulsion between one another and since the electromagnetic force is now stronger than the strong nuclear force, this results in the like charges repelling and the nucleus splitting.

5. a) 1H1  +  1H1  (  1D2  +  +1e0
          b) 1D2  +  1H1  (  2He3
          c) 2He3  +  1H1 (   2He4  +  +1e0
6. They are not isotopes because they have a different number of protons, so they are not the same element and cannot be isotopes.

7. They are not isotopes because they have a different number of protons, so they are not the same element and cannot be isotopes. If they had the same number of protons then it would have been an isotope due to the different number of neutrons.


